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A. (8 points for each of the following 10 blanks.)

¢ The radius of convergence of the series Y oo | [csch(n)] z" =
).

¢ fw=z+2y+2*,2="L y=r?+Ins, and z = 2r, then
%‘” can be expressed in terms of 7 and s as (2).

¢ The tangent plane at the point (0,1,2) on the surface

cos T — T2y + €% + yz = 4 is (3).

(7) and lmny ec /(z) = (é s
¢ fo fzefdmdy = (9).

¢ The value of a for which [[(4 :

45 — 5)dz converges is
(10).

B. (10 points)
¢ Use the definition of right-hand limit to show that
lim,_,1+(5c — 3) = 2.

C. (10 points)
4 Calculate the area enclosed by y? = 2z, z 4+ y = 4, and

x + y = 12. Please show your calculation.
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